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e FBEEE TOMEE
0: 2,149,960




= 2, REE?
Sk ek ARl 3%t
HHES 2252 | mE 55 ERES| 2252 |EEsnEEE
Bii&# |1 & HE 1-FNo ER > £ 1.00 YE R B L #% RE e E A=
# 6 [RAEXH 5% 40 _ 1-1 1 B NERAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 2.000] A 57,400 114,800 57,400 114,800 0.000 0
3|EMA R ERAEHE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
B 206,600 206,600 0.000 0
B fiff 1.0 43y 206,600
EEANE 206,600
ZTDMIRE 0
datza (&E) EFEFE. PETEE20E. REYMARBROT4E




= REE?
SR KBS gt
M &S 3350 _ =] 55 ZiES| 3350 |ERHnEEE
BRAF [N\ATEEFICEZFE & 1-FNo YER D 1.00 YE R B L [ AE ESTETAE J=E-T
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1|FEMEREES |[RIEMBEEEREE 0.040[ A 35,000 1,400] 35,000 1,400 0.000 0
* 12| EREE R EHEEEREE 0.040[ A 25,900 1,036] 25,900 1,036 0.000 0
504 |1 & MR LHEIcHTHES 1.000[ % 2,436 24 0 0| & 0.000 0
808|E I E 25 INMTUVTHETH 0.040| & 570 23 0 ol iRz & 0.000 0
i 2,483 2,436 0.000 0
B fiff 1.0 @HY 2,483
EEANE 2,436
ZTRMBEE 47
data| (f&%) 151,000%0.3773/100=570
2




= REE?
=25 1 A B (i 3= e
HHES 3351 _ = 55 ZiFEE| 3351 |EEAMETEER
BRAF [N TEFFICKEFAE EHEE 1-FNo YER D 1.00 YE R B L A RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.100[ A 47,500 4,750| 47,500 4,750 0.000 0
* 1M[FEHERES |RIEMERERE 0.200[ A 35,000 7,000, 35,000 7,000 0.000 0
* 12(ERES RIFZMTEHEEEREE 0.300] A 25,900 7,770| 25,900 7,770 0.000 0
504|#1 #1 & NELEIcHTIEE 1.000[ % 19,520 195 0 0|#HI & 0.000 0
i 19,715 19,520 0.000 0
B 1 1.0 H&Y 19,715
EEANE 19,520
ZTRMBEE 195
data| (5#)
2




T AR B %
&S 3213 L = 55 ZHRES| 3213 |EEsnEEE
Bfi4 | BEo/KGLET &R E FL 2 ER D 1.00 YE R B L A AE ESTETAE J=E-T
B ENEIEANEY _ f 3 NEEAGE B o= |[eEss0nEs)
R [EliNe| 2 7 T 1 ERT % | B im | = %8 i EER g
* 10| #h 25 ER & A RIFMTEHEEEREE 47,500 2,375 47,500 2,375 0.000 0
* 1M[FEHERES |RIEMERERE 35,000 27,300/ 35,000 27,300 0.000 0
504 |41 ¥ & HELHEICHTBEE 29,675 297 0 0 0.000 0
803| B §o K&t PCh—F= 1,585 47,550 0 0 0.000 0
B 77,522 29,675 0.000
B 1 1.0 H&Y 77,522
EEANE 29,675
ZTRMBEE 47,847
data| (%) 420,000%0.3773/100=1,585
2




— ‘ﬁ; 1
kR R E ey
FFHES 3224 mE 55 ZREE| 3224 |mEzmnEEE
BB 5 |thRPMEETEHERE 31—k No ER D 1.00 E R BT H AE ST E A E A=F-
B & _ -3-1-3 . B NEEAHRE B o= [[REesRONES)
e H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 10[4#h B SR E BEm R ERAERHEE 0.100] A 47,500 4,750 47,500 4,750 0.000 0
* NM|EEMEFES |RIEMEEERE 0.200] A 35,000 7,000/ 35,000 7,000 0.000 0
* 12(ERES R ERAERHEE 0.200[ A 25,900 5,180| 25,900 5,180 0.000 0
504 | ¥ ¥ & RIS HEE 1.000] % 16,930 169 0 0|M¥E 0.000 0
g 17,099 16,930 0.000 0
B fiff 1.0 AHY 17,099
EEAGE 16,930
ZTDMhIEE 169

data| (5#)




= REE?
=25 1 A B (i 3= e
HHES 3228 L mE 55 ZHRES| 3228 |EEsnEEE
Bifa % [BAKESRIRVEHEZE 1-FNo ER > £ 1.00 ER B & A RE e E A=
B & _ 5-1-1-1(2) f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 122(ERES RIFMTEHEEEREE 0550 A 25,900 14,245 25,900 14,245 0.000 0
* 22| T R EHEEEREE 0.300] A 29,600 8,880 0 0|FHE 0.000 0
504 |1 & HEEHEIcHTBEE 1.000[ % 23,125 231 0 o|# ¥ & 0.000 0
802| BELFREETIEH  |EnfEIwREY 30.000] H 365 10,950 0 ol iRz & 0.000 0
B 34,306 14,245 0.000 0
H i 1.0 FHANY 34,306
EEANE 14,245
ZTRMBEE 20,061

data| (5#)

250,000%0.1460/100=365




= REE?
=25 1 A B (i 3= i
M ES 3383 | mE 55 ZiES| 3383 |mEsmnEEE
HBm&H (B ETRE 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ e B NEEAHRE B o= [[REesRONES)
T #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3381 |t EstsaE BREEET | 400kN=Tsa<1300kNCE U5t 3.000] A& 611,251 1,833,753| 142,578 427,734 0.000 0
3382|ustirmEitnE mammsT 3.000] & 13,011 39,033 11,828 35,484 0.000 0
B 1,872,786 463,218 0.000 0
B 1 1.0 XHY 1,872,786
EEANE 463,218
ZTRMBEE 1,409,568
data| (5#)




= REE?
A 25 {8 71 B 2% “sga
HHES 3381 = 55 HHEES| 3381 |EEinmkEEE
Bil&# |RATREGHRE BERER L 1-FNo YER D 1.00 1 R BT Zi AE ESTETAE J=E-T
# & [ 400kN=Tsa<1300kNSEU A = _ 12 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.890] A 47,500 42,275| 47,500 42,275 0.000 0
* 1M[FEHERES |RIEMERERE 0.890[ A 35,000 31,150/ 35,000 31,150 0.000 0
* 12(ERES RIFZMTEHEEEREE 2670 A 25,900 69,153| 25,900 69,153 0.000 0
809| T AR AT EE GL-1.0MNCB-146D 1.000| X 205,600 205,600 0 ol iRz & 0.000 0
811|730 X1)—T | d 145mm*150mm 1.000( & 49,500 49,500 0 0| & 0.000 0
916|034 bRY—T [ 112mm*60mm 1.000| #A8 36,370 36,370 0 0|MHE 0.000 0
IN7|EETVE ® 185mm*50mm 1.000] & 33,140 33,140 0 0| & 0.000 0
918[A A IFry T ® 185mm*136mm 1.000 & 49,500 49,500 0 0|MHE 0.000 0
919[& E(FTL—k @ 260mm*42t 1.000] & 17,480 17,480 0 0| & 0.000 0
920[<EVr ® 12.7mm 6.000[ #A 636 3,816 0 0|#HI & 0.000 0
921|FL8E# VI—~H(16kg/4k) 2.300] ke 860 1,978 0 o|# ¥ & 0.000 0
500|FEME R EEIHTIEE 50.000] % 142,578 71,289 0 0| ZDhixE 0.000 0
i 611,251 142,578 0.000 0
B 1 1.0 K&y 611,251
EEANE 142,578
ZTDMhIEE 468,673
data| (5#)




T AR B %
M ES 3382 = 55 ZFEE| 3382 |EEAMEEER
BmAF [T EERE BEEEET 1-FNo YER D 1.00 YE R B L Zi AE ESTETAE J=E-T
B & _ _ 1% - NEEAE B o= [[REesRONES)
T #h T 1 B & | By B m | & %8| B i | & %8 i EER
* 10| #h 25 ER & A RIFMTEHEEEREE 0.090] A 47,500 4,275 47,500 4,275 0.000 0
* 1M[FEHERES |RIEMERERE 0.090[ A 35,000 3,150/ 35,000 3,150 0.000 0
* 12(ERES RIFZMTEHEEEREE 0170 A 25,900 4,403] 25,900 4,403 0.000 0
500|EEM & RELHEICHTDEE 10.000[ % 11,828 1,183 0 0| Z D thiZE 0.000 0
i 13,011 11,828 0.000 0
B fiff 1.0 &A%Y 13,011
EEANE 11,828
ZTRMBEE 1,183
data| (5#)
2




= REE?
=25 1 A B (i 3= i
&S 3384 | = 55 ZiES| 3384 |mEsmnEEE
Bfi 4 | RBEHE/ARILERE 1-FNo YER D 1.00 YE R B L = AE ESTETAE J=E-T
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
5|3%EMC RIFMTEHEEEREE 0.500[ A 32,800 16,400| 32,800 16,400 0.000 0
ez =] R EHEEEREE 1.000] A 29,000 29,000( 29,000 29,000 0.000 0
27|ET SHIEIAFE 0.270] A 20,200 5,454 0 0|7 #%E 0.000 0
922| K5/ )L 26W|OGT-13T 1.000| & 68,900 68,900 0 0|MHE 0.000 0
923|F M E I FO—F— |Sunsaver—6L 1.000] & 10,100 10,100 0 0| & 0.000 0
924|/3yT) 12V7.2Ah 1.000 & 20,100 20,100 0 0|MHE 0.000 0
i 149,954 45,400 0.000 0
B 1 1.0 H&Y 149,954
EEANE 45,400
ZTDMhIEE 104,554

datad

(&%)




= REE?
SR KBS gt
M ES 3389 | = 55 ZiHES| 3389 |mEsmmnEEE
BEMAF |BEH - BEH-AEHT SEREERS 1-FNo B B 1.00 1 R BT = AE BiirENEB#
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
33854 —VREETRE 4.000] # 215,570 862,280 49,300 197,200 0.000 0
3386|477 —RtER 4.000| &Pk 31,436 125,744 0 0 0.000 0
3387 | E T — 2L EE |NetLG-104 4.000| fEHFR 187,714 750,856] 49,300 197,200 0.000 0
3388| F D fthikzs 1.000[ = 409,200 409,200 0 0 0.000 0
i 2,148,080 394,400 0.000 0
B fiff 1.0 KBy 2,148,080
EEANE 394,400
ZTRMBEE 1,753,680
data| (5#)
2




= REE?
SR KBS gt
HHES 3385 | = 55 EiES| 3385 |EmEsmnEEE
BE |47 —VRERRE 1-FNo YER D 1.00 YE R B L X RE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
4|3ENB RIFMTEHEEEREE 0.500] A 40,600 20,300/ 40,600 20,300 0.000 0
ez =] R EHEEEREE 1.000] A 29,000 29,000( 29,000 29,000 0.000 0
27|ET SHIEIAFE 0.270] A 20,200 5,454 0 0|7 #%E 0.000 0
21| Ed1EXE SHBEIFHE 0570 A 18,800 10,716 0 0|5 #%E 0.000 0
925(447° —REE BT-100B 1.000] # 26,700 26,700 0 0| IR 0.000 0
927|T—REHREE  [NetLG-104 1.000] # 123,400 123,400 0 Ol iz & 0.000 0
i 215,570 49,300 0.000 0
B 1 1.0 H&Y 215,570
EEANE 49,300
ZTDMhIEE 166,270
data| (5#)
2




= REE?
SR KBS gt
M HES 3386 | = 55 Z83EE| 3386 |mEameEE
BN |47 —DfER 1—FNo YER D 1.00 YERREEAL|  &EFT AE ESTETAE J=E-T
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
27|ET SHIFEIAFE 0.180[ A 20,200 3,636 0 0|7 #%E 0.000 0
928|147 — B NZ-6B 2000( 13,900 27,800 0 0| MM iz & 0.000 0
i 31,436 0 0.000 0
B 1 1.0 #ryY 31,436
EEANE 0
ZTDMhIEE 31,436
data| (5#)
2




= REE?
=25 1 A B (i 3= i
&S 3387 mE 55 Z8EE| 3387 |mEameEE
BimA% |(mET—2EREE 1-FNo YER D 1.00 ERCEGL) &R RE e E A=
15 |NetLG-104 _ _ . B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
4|3ENB RIFMTEHEEEREE 0.500] A 40,600 20,300/ 40,600 20,300 0.000 0
ez =] R ERAEHE 1.000] A 29,000 29,000( 29,000 29,000 0.000 0
2]|ET SHIEIAFE 0.250] A 20,200 5,050 0 0|7 #%E 0.000 0
21| Ed1EXE SHBEIFHE 0.530[ A 18,800 9,964 0 0|5 #%E 0.000 0
927|T—A2EBREE  |NetLG-104 1.000] # 123,400 123,400 0 0| IR 0.000 0
B 187,714 49,300 0.000 0
B 1 1.0 BT Y 187,714
EEANE 49,300
ZTDMhIEE 138,414
data| (5#)
2




= REE?
SR KBS gt
M ES 3388 | mE 55 ZFEE| 3388 |EEAMEEE
BEifAF [Z DM J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
929[avbO—5— NetCT-1(CF) 3.000 & 92,500 277,500 0 o|# ¥ & 0.000 0
930|CFA—K 256MB 3.000| #& 12,300 36,900 0 0|MHE 0.000 0
931 [#& #hF5 75 99A-18AT_PB18-4030T 4000 & 23,700 94,800 0 0| & 0.000 0
B 409,200 0 0.000 0
H i 1.0 KBy 409,200
EEANE 0
ZTDMhIEE 409,200
data| (5#)
2




= REE?
kR R E i
HHES 3390 | mE 55 ZREE| 3390 |[mEiameEEE
BN [t TFKEAERE 1-FMNo B B 1.00 1 R BT = AE ST E A E A=F-
B & [BV20-1 _ _ . B NEEAHRE B o= [[REesRONES)
e 7 H 1 B = | B B Im | & % | B m | = %= i B3 | = %8
1M[FEHERES |RIEMERERLE 0.340] A 35,000 11,900/ 35,000 11,900 0.000 0
12| ERES R ERAEHE 0.690] A 25,900 17,871] 25,900 17,871 0.000 0
* [ 932|KEF KSR H ] [Ms-2L 0~50m3t 60mftE 1.000 & 185,000 185,000 0 0|z E 0.000 0
x | 933|B5KEKELET WP-1 1.000 & 125,400 125,400 0 O|eimiR & 0.000 0
500/ & HE SIS HEE 5.000] % 310,400 15,520 0 0| ZDthiZE 0.000 0
B 355,691 29,771 0.000 0
B fiff 1.0 HEHY 355,691
EEAGE 29,771
Z DR E 325,920
datal ({§#)
2




= REE?
SR KBS gt
M ES 3391 | = 55 ZHFEE|] 3391 |EEaMEEE
BRAF [#hTFKGFAERE 31—FNo YER D 1.00 YE R B L X RE e E A=
B 18 [BV-26-20-W4-BV16-4" _ 1% - NEEAE B o= [[REesRONES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1|FEMEREES |[RIEMBEEEREE 0.340[ A 35,000 11,900] 35,000 11,900 0.000 0
12| EREE R EHEEEREE 0.690[ A 25,900 17,871] 25,900 17,871 0.000 0
* | 934 KERXKEIMREER [MS-2L 0~20mEt 30mft 1.000] & 123,400 123,400 0 0| IR 0.000 0
x | 933|FhH/KEIKAEIE WP-1 1.000] & 125,400 125,400 0 0| Bt iR & 0.000 0
500 | FE At & RNESBEICHTHEE 5.000] % 248,800 12,440 0 0| Z DihiZHE 0.000 0
i 291,011 29,771 0.000 0
B fiff 1.0 FEY 291,011
EEANE 29,771
ZTDMhIEE 261,240

data| (5#)




= REE?
SR KBS gt
e 3396 | me 55 EHEE| 3390 |EBAMEEER
BB pxmmetns meitis ansums—J s 1-FMNo B B 1.00 1 R BT = AE ST E A E A=F-
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3392|mhsmstic L2 HE HE 3.000] # 33,690 101,070 33,690 101,070 0.000 0
3393(EKkE8A BE 1.000| &R 24,300 24,300| 14,336 14,336 0.000 0
3394 —J L E 800.000| m 289 231,200 0 0 0.000 0
3395 | StRAASI AR MY [mmmuneut mzcem 5.000] & 27,396 136,980 0 0 0.000 0
935K FEE & AR E 0.160] t 25,000 4,000 0 0| & 0.000 0
936| Bz 0.064| t 6,200 397 0 0|MHE 0.000 0
937 |$AiR AL AT B 0.110[ t 6,200 682 0 0| Z DR E 0.000 0
B 498,629 115,406 0.000 0
H i 1.0 KBy 498,629
EEANE 115,406
ZTDMhIEE 383,223
data| (5#)
2




= REE?
=25 1 A B (i 3= e
HHES 3392 | = 55 ZHRES| 3392 |EEisnEEE
BmAF [BEsTIck2AE BE 1-FNo YER D 1.00 YE R B L X RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.220] A 47,500 10,450| 47,500 10,450 0.000 0
1M[FEHERES |RIEMERERE 0.220[ A 35,000 7,700, 35,000 7,700 0.000 0
12(ERES RIFZMTEHEEEREE 0.600] A 25,900 15,540| 25,900 15,540 0.000 0
i 33,690 33,690 0.000 0
B fiff 1.0 HEHY 33,690
EEANE 33,690
ZTRMBEE 0
data| (5#)




= REE?
SR KBS gt
EHES 3393 | mE 55 ZEE| 3393 |EEaMEEE
Bima% [BAKEHA BE J1-FNo ER > £ 1.00 ERCEGL) &R RE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
3% | BN #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3 RIFMTEHEEEREE 0.280] A 51,200 14,336] 51,200 14,336 0.000 0
21| EB1EXE SHBEIFHE 0.530[ A 18,800 9,964 0 e 0.000 0
24,300 14,336 0.000 0
H i 1.0 BEFrSY 24,300
EEANE 14,336
ZTDMhIEE 9,964
data| (5#)




= REE?
SR KBS gt
EHES 3394 | mE 55 ZBEE| 3394 |EEsMEEE
Bifa % [r—TILEE 1-FNo EREH | 10000 |VERCEENE m AE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
27|& SHIFEIAFE 1430 A 20,200 28,886 0 0|7 #%E 0.000 0
B 28,886 0 0.000 0
B 1 1.0 m4lY) 289
EEAGE 0
ZTRMBEE 289
data| (5#)
2




= REE?
SR KBS gt
FHEES 3395 | mE 55 ZEE| 3395 |EEsMEEE
B4 SR AR A J1-FNo ER > £ 1.00 YE R BT Z RE e E A=
B8 SARETAESmUT BMEFER) _ @ B NEEAGE B o= || BE2s0nES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i H® | = %8
27|ET SHIFEIAFE 0.500] A 20,200 10,100 0 0|7 #%E 0.000 0
21| EB1EXE SHBEIFHE 0.920[ A 18,800 17,296 0 0|5 #%E 0.000 0
B 27,396 0 0.000 0
H i 1.0 A%y 27,396
EEAGE 0
ZTRMBEE 27,396
data| (5#)
2




= REE?
SR KBS gt
e 3401 | E e 55 ERES| 3401 |EBOHEEE
BMAH |RAEEAUEEOBRIFED/ SO TLIMER 1-FNo YER D 1.00 YE R B L = AE e E A=
B & _ _ f 3 NEEAGE (BEDS>HLDNED)]
e BN f G 5 % M E | H{r| B M & 26 | HE i & % H# | & %
3397 &EHHNE 1.000[ = 126,596 126,596 126,596 126,596 0.000 0
3398 |aummEpn U EMER 1.000] =® | 1,036,840 1,036,840] 1,036,840| 1,036,840 0.000 0
3399|FNRIBI A E 1.000[ =% 426,000 426,000 0 0 0.000 0
s 1,589,436 1,163,436 0.000 0
B i 1.0 k&Y 1,589,436
EEANGE 1,163,436
ZDHMRE 426,000
data| (5#)
2




= REE?
=25 1 A B (i 3= i
HHES 3397 | mE 55 ZHRES| 3397 |mEsnEEE
Hifa % [EFIRE 1-FNo ER > £ 1.00 YE R B L = e E A=
B & _ _ e B NEEAHRE (BEDS>HLDNED)]
T e i3 o % H = |BHMa| B W [ £ %@ | B @ | £ % Hi# | £ %8
3| FEMA RIFMTEHEEEREE 0.830[ A 51,200 42,496 51,200 42,496 0.000 0
4|3 EfB R EHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
e =] RIFZMTEHEEEREE 1.500f A 29,000 43,500/ 29,000 43,500 0.000 0
B 126,596 126,596 0.000 0
B fiff 1.0 XHY 126,596
EEANE 126,596
ZTRMBEE 0
data| (5#)




= REE?
SR KBS gt
HHES 3398 L = 55 ZiES| 3398 |mEsmmnEEE
Bifia# | EHBERVER RIS IER 1-FNo YER D 1.00 YE R B L = RE ESTETAE J=E-T
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 1.330] A 51,200 68,096/ 51,200 68,096 0.000 0
4|3 EfB R EHEEEREE 3.330] A 40,600 135,198| 40,600 135,198 0.000 0
5|3EMC RIFZMTEHEEEREE 5670 A 32,800 185,976 32,800 185,976 0.000 0
ez =] R EEEREE 22.330[ A 29,000 647,570/ 29,000 647,570 0.000 0
B 1,036,840 1,036,840 0.000 0
B fiff 1.0 KBy 1,036,840
EEAGE 1,036,840
ZTRMBEE 0
data| (5#)
2




AEE R R i
M HES 3399 | = 55 ERES EEEMEERE
B4 [FRIEKRE R 1.00 YE R BT AE e A A=E¢
B & _ _ f 3 NEEAE B o= |[eEss0nEs)
WR BN | 2 B = |HE| B m | & % | B W | = %8 i HE
038| FNRIELA & 0 =% 426,000 426,000 0 0| F DI E 0.000
i 426,000 0.000
B i 1.0 KLY 426,000
EEAGE 0
ZTDMhIEE 426,000
data| (5#)




= REE?
SR KBS gt
HHES 3400 | = 55 EHRES| 3400 |EEHmnEEE
B4 7 | MhorEiBA= & BERK 1-FNo YER D 1.00 YE R B L = ESTETAE J=E-T
B & _ _ f 3 NEEAGE (BEDS>HLDNED)]
2% | B ffiNo G 5 % H = |BHMa| B W [ £ %@ | B @ | £ % Hi# | £ %8
4 RIFMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
5 R EHEEEREE 1.830] A 32,800 60,024/ 32,800 60,024 0.000 0
6 RIFZMTEHEEEREE 5.000[ A 29,000 145,000/ 29,000 145,000 0.000 0
245,624 245,624 0.000 0
B fiff 1.0 KBy 245,624
EEANE 245,624
ZTRMBEE 0
data| (5#)




T AR B %
e 3402 | ) 55 ERES| 3402 |EEEMEEE
B{f& R [spmmstEcom - mESHO-F L) BEH AEE 1-FMNo ERL B 1.00 {ERK B (oL A AE BiiENEBH
B & _ _ f 3 NEEAGE B o= |[eEss0nEs)
e 7 H ® = B i | = 28 | B { | & %8 i EES g
* 10[Hh B SR B BiAm R ERAERHEE 0.250] A 47,500 11,875 47,500 11,875 0.000 0
* NM|EEMEFES |RIEMEEERE 0.350] A 35,000 12,250/ 35,000 12,250 0.000 0
* 22| T R ERAERHEE 0.350[ A 29,600 10,360 0 0| HE 0.000 0
500|EEM & RELHEICHTDEE 1.000 34,485 345 0 0| Z D thiZE 0.000 0
B 34,830 24,125 0.000
B fiff 1.0 AHY 34,830
EEAGE 24,125
ZTDMhIEE 10,705

data| (5#)




= 2, REE?
Sk ek ARl 3%t
FEHES 2150 | ES 55 EZRES| 2150 |mesmkeE=E
B4 |Gt EE R 1-FNo ER > £ 1.00 FETCIES RE e E A=
B & [AEBAR HREEE06km2LLT 3-2 2 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 1.000 A 65,500 65,500| 65,500 65,500 0.000 0
2| EEHED R ERAEHE 1.500[ A 57,400 86,100| 57,400 86,100 0.000 0
5|3EMC RIFZMTEHEEEREE 1.500f A 32,800 49,200/ 32,800 49,200 0.000 0
B 200,800 200,800 0.000 0
B 1 1.0 X7H%4Y 200,800
EEANE 200,800
ZTDMIRE 0
data| (&%) #H1E{%%1.0
2




= 2, REE?
AR BER i
FEHES 2194 | ES 55 ERES| 2194 |mesmkeEs=E
HEmZ T (s R st 1-FNo ER > £ 1.00 FETCIES RE e E A=
B & RS 1ERT I REEIR0.6km2LL T 3-5-3 2 B NERAGS B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 1.000 A 57,400 57,400| 57,400 57,400 0.000 0
3|EMA R EHEEEREE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 0.500] A 40,600 20,300/ 40,600 20,300 0.000 0
5|HiEfiC R EEEREE 1.000 A 32,800 32,800/ 32,800 32,800 0.000 0
6| FfiiE R EHEEEREE 1.500f A 29,000 43,500/ 29,000 43,500 0.000 0
B 205,200 205,200 0.000 0
B 1 1.0 X7H%4Y 205,200
EEANE 205,200
ZTRMBEE 0
data| (&%) #H1E{%%1.0
2




= 3 REEL
AR B T
M &S 2196 | e 55 ZiRE S| 2196 |AEGHEEE
HEmZ T (s R st 1-FNo ER > £ 1.00 FETCIES RE e E A=
B & [HREISERT HRMEEIR0.6km2LL T 3-5-3 2 B NERAGS B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 2100 A 57,400 120,540 57,400 120,540 0.000 0
3|EMA R ERAEHE 2.100] A 51,200 107,520, 51,200 107,520 0.000 0
4|3ENB RIFZMTEHEEEREE 1.050 A 40,600 42,630| 40,600 42,630 0.000 0
5|HiEfiC R ERAEHE 2.100] A 32,800 68,880| 32,800 68,880 0.000 0
6| FfiiE R EHEEEREE 3150 A 29,000 91,350/ 29,000 91,350 0.000 0
B 430,920 430,920 0.000 0
B 1 1.0 X7H%4Y 430,920
EEANE 430,920
ZTDMIRE 0
datal (&%) #HIEHRE2.1
2




Sk ek ARl "3
2201 E e 55 ERES| 2201 |EBOHEEE
AR 1-FNo YER D 1.00 FETCIES ESTETAE J=E-T
& [170v) MRMEE0.6km2AT 3-5-4 2 - NEZEAE (HED>E DI ES)
£ o = | B B @ 28 | H | £ % H# 8
FEHER RIFMTEHEEEREE 1.500] A 57,400 86,100/ 57,400 86,100 0.000 0
FETA R ERAEHE 1.500] A 51,200 76,800, 51,200 76,800 0.000 0
HEnB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
HEfC R ERAEHE 1.000] A 32,800 32,800[ 32,800 32,800 0.000 0
Bifig R EHEEEREE 0.500] A 29,000 14,500| 29,000 14,500 0.000 0
i 250,800 250,800 0.000
B 1 1.0 X7H%4Y 250,800
EEANE 250,800
ZTRMBEE 0

(E%) WHIEFHRE1.0




Sk ek ARl "3
2203 | = 55 ZHRES| 2203 |EEsnEEE
AR 1-FNo YER D 1.00 FETCIES ESTETAE J=E-T
& 13700 ARELEIE0.6km2LL T 3-5-4 1% - NEEAE (REDSLDHES)
£ o = | B B @ 28 | H | £ % H# 8
FEHER RIFMTEHEEEREE 2400 A 57,400 137,760 57,400 137,760 0.000 0
FETA R EHEEEREE 24000 A 51,200 122,880| 51,200 122,880 0.000 0
HEnB RIFZMTEHEEEREE 1.600[ A 40,600 64,960| 40,600 64,960 0.000 0
HEfC R EEEREE 1.600] A 32,800 52,480 32,800 52,480 0.000 0
Bifig R EHEEEREE 0.800] A 29,000 23,200/ 29,000 23,200 0.000 0
i 401,280 401,280 0.000
B 1 1.0 X7H%4Y 401,280
EEANE 401,280
ZTRMBEE 0

(E%) WHIE%RE1.6




= 2, REE?
AR BER i
HHES 2216 | = 55 ZHRES| 2216 |EEsnEEE
B4 7 | R EREMNT 1-FNo YER D 1.00 FETCIES e E A=
& |SHTE MTERIER4km LT 3-5-5 1% B NERAGE (REDSLDNES)]
BfiNo| G o % = | Hfr| B ff 28 | H | £ % Hi# | £ %8
2| E{EHED RIFMTEHEEEREE 1.200 A 57,400 68,880| 57,400 68,880 0.000 0
3|EMA R EHEEEREE 1.200f A 51,200 61,440 51,200 61,440 0.000 0
4|3ENB RIFZMTEHEEEREE 1.200f A 40,600 48,720| 40,600 48,720 0.000 0
5|HiEfiC R EEEREE 0.600] A 32,800 19,680 32,800 19,680 0.000 0
6| FfiiE R EHEEEREE 1.800/ A 29,000 52,200| 29,000 52,200 0.000 0
B 250,920 250,920 0.000 0
B 1 1.0 X7H%4Y 250,920
EEANE 250,920
ZTRMBEE 0

(E%) WHIEFHRE.2




= 2, REE?
Sk ek ARl gt
&S 2217 | mE 55 BHREE|] 2217 |gEameEE
B4 7 | R EREMNT 1-FNo YER D 1.00 FETCIES e E A=
& [AMTE BTERERAKMET 8555 . 3 NEEAGE (BEDS>HLDNED)]
BfiNo| G o % = | Hfr| B ff 28 | H | £ % Hi# | £ %8
2| FEHED RIFMTEHEEEREE 1.300 A 57,400 74,620 57,400 74,620 0.000 0
3|EMA R EHEEEREE 1.300 A 51,200 66,560/ 51,200 66,560 0.000 0
4| EfB RIFZMTEHEEEREE 1.300 A 40,600 52,780| 40,600 52,780 0.000 0
5|HiEfiC R EEEREE 0.650] A 32,800 21,320| 32,800 21,320 0.000 0
6| FfiiE R EHEEEREE 1.950 A 29,000 56,550| 29,000 56,550 0.000 0
B 271,830 271,830 0.000 0
B 1 1.0 X7H%4Y 271,830
EEANE 271,830
ZTRMBEE 0

(E%) WHIEFHRE.3




= 2, REE?
AR BER i
HHES 2218 | = 55 ERES| 2218 |EEsmnEEE
B4 7 | R EREMNT 1-FNo YER D 1.00 FETCIES e E A=
iE |6HTE M E R EE R 4km AT 3-5-5 1% B NERAGE (REDSLDNES)]
BfiNo| G o % = | Hfr| B ff 28 | H | £ % Hi# | £ %8
2| E{EHED RIFMTEHEEEREE 1.500] A 57,400 86,100/ 57,400 86,100 0.000 0
3|EMA R EHEEEREE 1.500[ A 51,200 76,800| 51,200 76,800 0.000 0
4|3ENB RIFZMTEHEEEREE 1.500f A 40,600 60,900/ 40,600 60,900 0.000 0
5|HiEfiC R EEEREE 0.750] A 32,800 24,600/ 32,800 24,600 0.000 0
6| FfiiE R EHEEEREE 2.250] A 29,000 65,250/ 29,000 65,250 0.000 0
B 313,650 313,650 0.000 0
B 1 1.0 X7H%4Y 313,650
EEANE 313,650
ZTRMBEE 0

(E®) WHIEHRE5




= 2, REE?
Sk ek ARl 3%t
HHES 2227 | mE 55 ERES| 2227 |EEsnEEE
B4 | SRESERK 1-FNo ER > £ 1.00 FETCIES RE e E A=
# & [FAEE R _ 3-6 . 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 1.500] A 57,400 86,100/ 57,400 86,100 0.000 0
3|EMA R ERAEHE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 1.500f A 40,600 60,900/ 40,600 60,900 0.000 0
B 198,200 198,200 0.000 0
B 1 1.0 X7H%4Y 198,200
EEAGE 198,200
ZTRMBEE 0
data| (&%) #H1E{%%1.0
2




— m|E 1
kR R E ey
FHEES 3289 | = 55 ZeEE| 3289 |mesmkeEE
B{f{LZ# | T/ L—ILIEHE 1-FMNo B B 1.00 E R BT t AE ST E A E A=F-
t# 5 [300miB500m LA T _ 5-3-1 1% - NEEAE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
574| /L — )L B 300m#B500mLL T 1.000] t 41,200 41,200 0 0| Z DR E 0.000 0

B 41,200 0.000 0
B {f 1.0 tHY) 41,200
EEAGE 0
ZTDMhIEE 41,200
datal ({§#)




= aEEL
kR R E ey
IEHES 3283 EE 55 ZEE[ 3283 |mEamkEEE
Bl4&F [B/L—ILEE-BE 21—k No R 1.00 I AE e RAE A=E8
# & [300m#B500mLL T _ 5-3-1 1 B NEZEAME B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
583|E/L—/L 225k - #1 % [300m#B500m LA R 1.000| &P | 1,530,000 1,530,000 0 0| ZDHhEE 0.000 0
g 1,530,000 0 0.000 0
B i 1.0 BTy 1,530,000
EEALE 0
ZTDMhIEE 1,530,000
datal ({§#)
2




AR 22 {8 31| BE i =%

fREEL
e
FEHES 3403 | EE 55 ZeREE| 3403 |meEsmEEE
B{fi&® [E/L—ILiER 1-FNo YER D 1.00 1 R BT H AE e E A=
#  3& [300<L=500 _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i H® | = %8
357|E/L—ILiEH 300m#Z500mLLTF 1.000] H 2,400 2,400 0 BRZE 0.000 0
i 2,400 0 0.000 0
B i 1.0 H&Y 2,400
EEAGE 0
Z DR E 2,400
data| (5#)
2




= REE?
SR KBS gt
M HES 2814 | mE 55 EZ5REE| 2814 |mEamsEE
Bf& M |54/ \i88 1—FNo YER D 1.00 YE R B L H AE ESTETAE J=E-T
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
32|51 ks \18%11.52 |1500 cc 5.000| B¥fE 501 2,505 0 74.6x2/30=4.97]| 0.000 0
AV 13.000] L 114 1,482 0 0]2.60%5.00=13.00]| 0.740 84
F 3,987 0 0.740 84
B 1 1.0 H&Y 3,987
EEANE 0
ZTDMhIEE 3,987
data| (%) BFFFR7Eh~IR1E 74.6km EBIB%k208 0.047kw*56kw=2.60
2




= REE?
SR KBS gt
&S 2815 | mE 55 Z85EE| 2815 |mEamsEE
BEifaH (REE 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T B & | By B m | & %8| B i | & %8 i B& | = %8
2814|541/ B 13.000 H 3,987 51,831 0 0/3.0x30/7=12.86]] 0.000 0
B 51,831 0 0.000 0
B 1 1.0 XHY 51,831
EEANE 0
ZTRMBEE 51,831
data| (5#)
2




